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Answer ALL Queestions in the Spdéqs Provided

1. State two precautions when haridling inoculated seeds. © (1mk)

State :faurcéuse;é ofland fragmentation in Kenya, .~ . . (imks) A

2. Eiplain :thc'ﬁaeszng‘of thc'fqlloWi’ggfpost-.J;arv,'est.ing prééﬁéés éar;i_ed'out in c,rdps,}:sucl} as beﬁﬁs.‘ :
@) Dustmg ..... S OO SO

(1;) . lhrmh'ng .......... Fererstes eine gl 3 ............ :

() CIEANTIET s e AR TP

3. {ive four charactéristics that a good plant used as green manure should possess.

Y

4. State four ways in which chemical killg the weed in the-

5. Outline three factors that determins

Af:i:‘.b m ethod of ‘ héfiffesﬁﬂglorop




(1%4mks)

L (mks)

Gmks)

(2mks)

~ 10. Differentiate between the term afforestation and reafforestation,

 (imk)

 11: Explain the importance of gapping in crop production.

. (Imk). R




12. State three possible ,solAutions to curb .fhe problem of perishability in horticultural crops.( 1%mks)

.
.,

13. Give three reasons why an iiiven';ory should be updated from time to time. (1 ’/zmks)v,

14. (a) What js meant by the term jojnt product as used inprogiﬁctioﬂ economic? - (1 mk)

(b) List twe joiht—pmduots in ¢crop product'i’oﬁ.. SR - : o (Tmk) -
15. (a) Mention three methods of forage conservation, T  (1Vamks)

!

thféé,_ effects of frequent earlydefol iati

(b) Outline U (amksy

16. List three Finsncial Documerits. T (1%mks)




' " ro 'vided‘_'m'ﬂns secimn

' 18. The dla{.,ram below shows tho renuh of an expenmen! carued ant by a form one student. ‘The siudcui v

v mlxui warer mth_sodlum oazbonate Ihen added i m a ‘soi} bample aﬁer which thercugh bhakmg was

cegt -dqnf;?. ' ontenﬁ were leﬁz to settle oria bcnch

Gravel panlc]es o

Vlhat was the aim of the abovc experlmcnt’? - » ( 2 mk)

(). “lentit ' - (1 Y mks)
Mo
N
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What was the role of sodium carbonate used in the experiment?

(% mk)

19. The fol fowing mfotmatlon was obtamed from the recnrds of Mr Tuma 5 farm for the year ended on
31* march 2011 : ,

Particulars
Opening Valuation
Calves

Hired Labour
Sales of milt: -
Sales of cernals
Rent

Feed

Seed

Fertilizers

Sales of Vegetables
Sales of pouitry
Sates of fruits
Pesticides

‘Depreciation: ) K
Repair and Maintenance

Interest on{oans

.. Closing Valuation : 0 G ,
using the in Formatlon gwen above preparc a proﬁt and loss account for Mr J uma 's farm for the.

year ended *1 March-

' ,mha

100, 000

72,000 .
21,000 A.;"-." o
13,000~
33000 07
_9000
5,300
A 700 S
< AT00
79,300 -
1,800
700 w0
1,250
680

950"

200

9,0000

(7mrks)




. (1 mafké) |

(2rarks)
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21. A farmer wishes to change her enterprise from vcgetab]e production to dairy cattle rearing. The

_costs she incurs in growing of vegetables is as follows -

Weed Sh. 200

‘Harvesting ' Sh. 300
Fertilizer - . Sh. 500
Seeds Sh. 400
When she cha ABges her enterpn aes to dairy cmtlc‘ renrmg, *hc incurs the fi o]lowm,;'
(ot ofbuvm;_ cattle E>‘n 5000
Disease ' o Sh 206
Salary of mille person $h. “0(}0

v ]em,mg _ . uh 50()

"l hﬂwvcnrle hc‘ got when gmwmg vegetabl'.’ 10,00 ‘. )

In dgiry production, he revenuye she pels from mllk aies is ‘ihsx 15,000 and manﬁfe ba‘ies‘ shs. 1,000.

Diaw up the partial budget and mdxcate (he cffect of the change ("alaow your worlung} ( ﬁmdii"i}




SECTIONC ' .
Answer any two questions in the spaces provided

22. (a) Describe the production of beans under the folIowihg sub-topics:

i. . Planting " ‘ . ~ (2marks)
Rt Field Management Practices. ol - (4marks)
il ~Harvesting, ‘ (2marks)

b. <'Outline the safety measures in the use of chemicals to minimize environmental poliution.

: . . (8marks)
ie) Expiaii‘j‘ four qualities of a good silage, '
- e | -y (4marks)
23. (a) Explain five biolo gical factors that inﬂ.uence soil férmati on. (10rnarks)
{b) Describe the causes of cfc;p dlSE‘aSC:b T : , (5mirks)

(c) Describe the field production of tea under frame formation by pegging method. '(Smarks)
24. (a) ‘Describe the procedure of harvesting sugarcane. v ‘

| , ,' _ (Smariks)
(bj Explairihow farmers overcome risks and un(‘:erta'imi'es infarm business, (7inarks)‘

(¢) Use thd informatio_n given in the table bélow to ariswer the quesﬁions that follow.

| Fertilizer inputs (units) Potato yield (bagis) Marginal product (lﬁa.g)
' N I T
B 62 | 12
2 66 | 4
3 : 68 : 2
4 69 | 1
5 : 69 , 0

The cost of fertilizer is shs. 320 per unit and the price ofpmatoeé is shs. 200 per bag.
L At what point of fertilizer applicatfpn should the farmer be advised to stop investing in

potatoes? A _ i
(Show your work) o » (5marks)
ii. Givea reason for your énSwer’iﬁ:‘(i‘)‘abOVC. . (2marks)

fi.  Atwhatlevel is netrevenve highest? = -  (Imark)



